Sy .
d St 12 ™ £3 9
' | Wie 2 Su 6B &7
: FRTHES ¢ 2 - !
CAL-ROYA L 0605Fofilasiree | BE%EL;E( 8 LA |
B B g th Ty D City of Commerce ,{,10;-.. 151\ g§ goi g*
8 [ v, QL T 0 o
L b K1 2
v lll\\l‘:f\'\“:”\ & % ﬁ ‘D %g
x 2 14
100.0" MAX. O.A. B Z3, by
FRAME WIDTH & 368 Bu
DKS SERIES 1800 g O 83
STEEL COMMERCIAL DOUBLE DOOR m PR 3k
OUTSWING §
"IMPACT" -
| &g
wn
HR|8R § Lé.i ;<c:"
23| 8
T OF |5 58
5 13 |2 G
i X i ] X 68 2| o .
b N =
< W |y OS2
i 9| H [5E&h
< al o || kW
o 2 z F
o o o
EVALUATED FOR USE IN THE STATE OF TEXAS S " | | ' | .
The Steel Door system described herein complies with the 2018 International Residential 5 -
Code (IRC), Sections R301 & Ré09 and the 2018 International Building Code (IBC), b3 n
Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions: S
1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment gl &
to base material shall be beyond wall dressing or stucco. g %
2. When used in areas requiring wind-borne debris protection, the opaque door does o 1©
not require impact protection while the sidelites are required to be protected with s| B
an impact resistant covering that complies with Section R301.2.1.2 of the IRC and MI g &
Section 1609.2 of the IBC. "
3. Allowable design pressure requirements must be equal to or less than the design . . . . 'g
pressure rating shown in the design pressure chart, sheet 1 of this drawing. Panic Bar Exit Device V‘{/ Vertical Rods g
4. Conditions not covered by this drawing are subject to further engineering analysis. "7700-V Series" S
N
TABLE OF CONTENTS JE
SHEET# | DESCRIPTION MAX DESIGN PRESSURE (PSF) ui il
1 Typical elevation, design pressures & general notes FRAME LOCK TYPE ,QUTSW’NG: - -2
7 Door panel details DIMENSION POSITIVE | NEGATIVE oATE: 10/1/14
3 Horizontal cross sections scale:  N.T.S
4 Vertical cross sections " . PANIC BAR EXIT DEVICE S
5 Frame anchoring 100.0" x 98.0 w/ VERTICAL RODS +50.0 -50.0 owe. BY:  JK
6 Frame anchoring "7700-V Series" CHk. BY:  LFS
7 Bill of materials and components DRAWING NO.:
TX—-4486
SHEET _1 oF 7

R:\Clients\Cal-Royal PERMANENT\B - Texas Dept of Ins\TDI - 472\Drawings\TX-4483-86.dwg, TX-4486

© 2014 R.W. BUILDING CONSULTANTS INC.



"ON| SANVLINSNOD aNIaiing

"M 102 Q)

2581L1—d4 # NOLVNLSIORY 40 3LVOIJILNID v SNOISIAY
S¥3INIONZ TYNOISS3408d 40 a¥voE SWXAL 31vd |ON| « ~
LELEBERTELE “ON WS STadal] Tdbire <00 S41| 3000 0dI/28l 810z 01 31vadn| 0z/z0/z | ¢ N <2 8 F_
GBSEE 14 OOUIPA OfZ xog .O.n_gg. ‘A18W3SSY ¥0 Ldvd — _M = . M o
"ONl SISWEIRENOD: SIS ¥00a WIDYINWOD 133LS 5 AL
— > |
=
£ZLY0L# "T'd Svxal WAOY—1v0 aldlale : I
‘I'd IPIWYDS °4 uopuki] :Ag peJodeud sjuswnosoq 110Naoydd W w 2|52 &
=
)
AR AL ; 5
% [aiwnos 3 NONALY 2
v\» ----- preeseee o : * h
) * %, i & o ”
g% X, - o.ﬁo \0\ o
B, e, ....Mz\wpq S
”- V\L\..::.....‘ N Pod
W31 50 2% o
M I
ol5
t =2
[~ ko)
]
>[8
mw
o
e = _.mﬂ._. —
f . ——ff=— .00
z E &
v o .
m —— “! _.mw — m -]
y w
S — - :
a F %_&o.o 3] <
— og = = o]
o 27D ~ v
= f o =5 3 =
M e (1
= =3 Elg
< 8= |2
> o -1 %]
C §] . Q&
a N 45800 —— SlE @
e ol5
H -l| 0
# 8| o2
= =S| 8 -..M O
|JAUWH—_/A_AUEU>\J m m [T Y | o
et T ® ] ®
" e /7 ™ (@) ¥/
b 5\_ & W
MO @
% v .
b, . et a ~— L1 ——
orore IR
I _g,\,_ O :
J s - _
=
SE
S 8
ols
x|8
mw | W9'6E =
>
S 5
m | 1 N D
& & L H | = J =z
< =
o
3 88
< 82
™ =
5¢ = 0
<0 < m || — o) 3 >
== Q ==
in Q o &2
w ~ 2 o SEE
o < . B Sa%
w o — |=2lS — ot o 0
i 22 ¥
s Tr N 56
S5 o | g  zm%
o N -5 <895
— [ < O T
L | SR
-~ | (“dAL) | S
1 | " 1 [+"4 O w
WSC'ST BLE
Q<
AD=
LIHOIEH TINVd XYW .0'G6 mm
LS
[Zo N7 ]

7L 'BMp9g-£8-X L\sBuImeIQ\Z. - IL\su] 40 1daq sexal - G\LNINVNYId [eAoy-|eD\sIual|D\y



"ON| SLNVLINSNDOJ aNIaiing

‘ME P 1LD0Z

TSBLL—d # NOLWVMISIOZN 40 3LVOI4ILY3O SNOISIATY
SY3ANIONI TYNOISS3J0dd 4O a¥voE Svxal mzmﬁﬁm%ﬁmmwmmo A8 31vd |ON| « 7_
R — S41] 3000 w081 810z OL 31vadn| 0z/20/4 1 t || ¥|5 2l 8
GBGEE 14 OSMIDA 0£Z Xog .o.n\h\wg ATGW3ISSY ¥0 1¥vd = M = . M o)
OHl "RINELINSHES: ANIGINE 4000 VIDYIWNOD 133LS S c LB L]
_ — > e
SZTLHOLF '3'd SwxaL TeARE -0 eI AT
‘3'd ‘PIWYSS ‘4 uopukl  :Ag pedodeld sjuswnoog Tonaosud w S m W m £
(2] (2]
o
L
\P/\h >
; o
...... =
5 &5
oz <
=0
S x
‘ >

C
-

@lﬁ@l@ NI

/ 2"\ HORIZONTAL CROSS SECTION

w Masonry Construction
Masonry "Tee" Anchor

EXTERIOR
INTERIOR

MUST BE ACTIVATED TO ACHIEVE IMPACT
RATING. LOCATE ONE SCREW AT THE

END OF EACH PUSH BAR.

NOTE:
1. PANIC BAR SET SCREWS (#12-24 x 5/16")

INTERIOR

m HORIZONTAL CROSS SECTION

|

SEENOTE 1

o

: *3 Ab .
5/\‘>/

€L 'BMp98-€8p-X L\sBuimela\g.y - I L\sul Jo 1daq sexal - \LNINVINYId [eAoYy-[eD\sIual|D\y



"ON| SLNVLINSNOJ aNIaling "Mm'd + 102 @

zgli~d # NOLVMLSIOZN 40 3LVOLHILNIO = SNOISIAZY 5
SHIANIONI TVNOISS3H0¥d 40 aQuvod Svx3l 1vd [ON
L6LE°6S0°CLE FON SUOUd BIMSSE S00) Ml S41| 3000 0¥1/081 8102 OL 31vadn| oz/zo/L ] t
SESEr ™14 OOHIDA OFZ XOE 0'd \S“@. "AJBW3SSY ¥0 L9vd

*ONI ‘SINVIINSNOO 9NIgTINg 4004 IVIDYIAWWOD 1331S

€ZLHOL# "3'd Svxal TYAOY—TVO
‘3'd ‘IPIWYDS ‘4 uopuk :Ag pespdeud sjuswnoog Tondosd

JK
LFS

N.T.S.

TX—-4486
SHEET _4 . oF _7_

oaTe: 10/1/14

SCALE

DWG. BY:
CHK. BY:
DRAWING NO.:

“o......:-..o...w nw ZOOZ\/J \

wasees®

INTERIOR

/" 2\ VERTICAL CROSS SECTION

w Outswing configuration

EXTERIOR / /@

(2’4
®)
i
z
=
o
-
(O
Ly
A
)
(72
]
[+
O
-
N <
a > PR m
a- t —m
& W
_v\x/v\ o
e
o
i
52
i

'L 'BMP'98-£8-X 1\sBumMRIQ\Z.Y - 1QL\SU| 40 3daQ sexaL - S\LNINVINYId [eAoy-eD\siualD\y



R:\Clients\Cal-Royal PERMANENT\B - Texas Dept of Ins\TDI - 472\Drawings\TX-4483-86.dwg, 7.5

S T =
e — 4 mP)
o s o . / \

- [

< SEE DETAIL 1

HEAD & JAMBS

/ - (TYP.)
FRAME

MASONRY
OPENING

i SILL
R SEE DETAIL 2 (TYP.)

N <<
=
SEE HINGE
] DETAL(TYP) | 4~ T

s
@Tﬁj
) —

12" (TYP.

o)

25.25" MAX. O.C.
(TYP.)

L 25.25" (TYP.) J

o)

10.25" (TYP.)

6" (TYP.) —]

. 4" (TYP.)
4" (TYP.)
FRAME ANCHORING
Masonry Construction
Concrete Anchors

CONCRETE ANCHOR NOTES:

1. Substitution of equal concrete screws from a different supplier may have different edge distance and
center distance requirements.

2. Concrete screw locations at the corners may be adjusted to maintain the minimum edge distance to
mortar joints. If concrete screw locations noted as "MAX. ON CENTER" must be adjusted fo maintain the
minimum edge distance to mortar joints, additional concrete screws may be required to ensure the
maximum on center dimension is not exceeded.

3. Concrete anchor table:

| R
4. Enbedment may be through 1-1/4" face shell of hollow block.

i I i 1\1\/\1 I I

] 6"

(ye)

HINGE JAMB

@

A\

W

\
]

\
g
DETAIL 1

Vertical rod latch strike plate
@ head

s NN\

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

/[l
77

_HINGE DETAIL

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595

Documents Prepared By:

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

CAL—ROYAL
STEEL COMMERCIAL DOOR
FRAME ANCHORING

PART OR ASSEMBLY:

PRODUCT: .

F
BY

AN

7/02/20 |UPDATE TO 2018 IBC/IRC CODE

N

e

NO,| DATE

1

REVISIONS

~—_| N

DATE: 10/1/14

Vertical rod latch strike plate
@:ssill

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX-4486

SHEET 5 oF 7

© 2014 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Cal-Royal PERMANENT\B - Texas Dept of Ins\TDI - 472\Drawings\TX-4483-86.dwg, 7.6

1. Substitution of equal concrete screws from a different supplier may have different edge distance and
center distance requirements.

2. Concrete screw locations at the corners may be adjusted to maintain the minimum edge distance to

mortar joints. If concrete screw locations noted as "MAX. ON CENTER" must be adjusted to maintain the
minimum edge distance to mortar joints, additional concrete screws may be required to ensure the
maximum on center dimension is not exceeded.

3. Concrete anchor table:

i
e
£ )
i SEE HINGE | 53, Eg
6" (TYP.) ‘-— DETAIL (TYP.) g £+ B 22
i 4" (TYP.) ::L n I'"i (2) M g "'
- P-h R N
a—— . gl € @2 >
11th JOINT | ] | 11th JOINT [ o gg égg 2z
M @1 5 E5I8 aE
- 2 a>v 0
21T * £ga &
SEE DETAIL 1 T/ L 5 8R. Eg
& ° 23 2,0
9th JOINT HEAD 9th JOINT = £ 5% 9%
(TYP.) & ¢ 508 Bu
& moo 8(
o § mg
MASONRY "TEE' ANCHOR LOCATIONS (6) TOTAL PER JAMB E gk
(JOINTS MEASURED FROM BOTTOM) EEH E @< k)
7th JOINT 7th JOINT ) * 3
(=]
o
S
JAMBS ] s
5th JOINT (TYP.) 5th JOINT e S o
. i 22 =
% =5 |2
24 5 S
IEREE
3rd JOINT 3rd JOINT 33 |4 ¢
T
Elm o] &
SILL S| &[5
SEE DETAIL 2 (TYP.) E # S ke
1st JOINT \,\ 1st JOINT E ~ = -
Lo | odl Q1%
1 L1 1 | I ° off | -
cy s . ."‘v :‘1 16" o o./.———7 i
. S \*\ ¢ (TYP-):l (TYP.) o | o= 8
S 4" (TYP.) y
4" (TYP.) 4
//
FRAME ANCHORING HINGE JAMB 4 8l 2
Masonry Construction HINGE DETAIL 2 @
Masonry "Tee" Anchors 8 2
o o
b=
CONCRETE ANCHOR NOTES: E
&
ju}
o
N
S
N

(3

A\

\
x=x 1
DETAIL 1

Vertical rod latch strike plate
@ head

91 ¢

1

NO.| DATE

AN,
im= .Dl
~~ X

DETAIL

Vertical rod latch strike plate
@:ssill

DATE: 10/1/14

scae:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX-4486

SHEET 6 oF 7

© 2014 R.W. BUILDING CONSULTANTS INC.



BILL OF MATERIALS
ITEM # DESCRIPTION MATERIAL
C | 1/4"MAX. SHIM SPACE ;
E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90
F | 3/8" PFH TW DYNABOLT SLEEVE ANCHOR STEEL
G |1/4"X 2-1/4"TTW PFH CONCRETE SCREW STEEL
H #8 X 1-1/2" PH WOOD SCREW STEEL
J | MASONRY "TEE" ANCHOR STEEL
1 | CAL-ROYAL DOOR PANEL .
3 | DOOR BOTTOM CHANNEL STEEL
4 | DOORTOP CHANNEL STEEL
5 | LOCK BOX REINFORCEMENT STEEL
6 | CLOSER REINFORCEMENT (11 gauge) STEEL
8 | WEATHERSTRIP - PEMKO 303A NEOPRENE
9 | TUBE ANCHOR STEEL
10 | #12-24 X 1" COMBINATION MACHINE / WOOD SCREW STEEL
11 | DOOR SWEEP- PEMKO 3151 PVC
13 | WEATHERSTRIP - COMPRESSION BULB 1/4" X 1/2" (PEMKO $88) NEOPRENE
15 | #8-24 X 3/4" COMBINATION MACHINE / WOOD SCREW STEEL
20 #12-24 X 1/2" PFH MACHINE SCREW STEEL
21 4-1/2" X 4-1/2" X 0.125" TEMPLATE HINGE STEEL
22 | DOOR HINGE REINFORCEMENT STEEL
25 |HOLLOW FRAME 2" STEEL
28 | FRAME HINGE REINFORCEMENT STEEL
29 | DOOR BOTTOM REINFORCEMENT w/ STRIKE PLATE STEEL
42 | OUTSWING THRESHOLD - PEMKO 2001P ALUM
74 | CAL-ROYAL 7700-V SERIES VERTICAL ROD EXIT DEVICE :
90 | VERTICAL ROD LATCH STRIKE PLATE @ HEAD STEEL
91 | VERTICAL ROD LATCH STRIKE PLATE @ SILL STEEL
. 0.88"
| 5780 . 0.24 —’ ’: [’
——Jl~—0.056" g 2 No. 6 X 5/8"
S PPH SMS @ 6" o.c.
‘L o . WEATHERSTRIP
Pemko 303A
f
n 1 [32)
- 1.56 225 3 T
@ HOLLOW METAL FRAME O O j

276" !

VERTICAL ROD LATCH STRIKE PLATE

91 @sill

Ld
? G, R
2 1" DIA. HOLE e £, f
— '-‘\_ "‘ .C* -
| \ 2o Sa gh 57
I c0 2 N Gl
5‘-’—‘:<« 'l c ;I 2 =
O o é % 0® I
s o oo
; % § EEp B¢
3 T - ’?)‘f&" - 235 03
o) Zow & n
* an )
& ONL o
o 23Z2 u
£ 5%e 95
1.5" 3.5" a 35¢68 Bu
& [ gg
" m
8.125 : £ § §E
3 E K E8
o o
l* 1.75" ———I ‘ b
| S
1" -l:{). o
9.875 ‘ 2 § 2
@ MASONRY 'TEE' ANCHOR ‘———‘—’—’Qj“? ~ { 3 28
5 5 NS o
S T | 8 [428
o 2.7" ' 0.3" . THRESHOLD ﬁ R
{ ’ ; Pemko 2001P 35 |3 .3
d 0.64" SO o 53
0.9¢6" " - e
nn m
s —— 125" = R I
Tz t LR %
SN | 062'—— |=—| 7 =—0.16
Lo . 8 25
N 3 o~ - T T— ] [an]
20 L ) ) N
o % N S
‘I OII = m o Ef). L O
= i
~ } D~ -Er 9 |2
O R e il
s O : 2 &
(I N L
~ H 19
! (5] -$_ -é— 1 b
W = B I I <
(:) TUBE ANCHOR o 3 @ ] © §
o || FH =
N
Ul <
——-I 0.8 I—‘— é 4¢— U gc
L T1 | 1 1 = .
O [ ] O = -6 = o %
N \
b,__\OJ - I oate: 10/1/14
i scAlE:  N.T.S.
3.66" DWG. BY: JK
1.28" | CHK. BY: LFS
VERTICAL ROD LATCH STRIKE PLATE DRAWING NO.:
@ FRAME HINGE REINFORCEMENT @ DOOR HINGEREINFORCEMENT TX-4486
SHEET _/ OF _7

R:\Clients\Cal-Royal PERMANENT\B - Texas Dept of Ins\TDI - 472\Drawings\TX-4483-86.dwg, 7.7

© 2014 R.W. BUILDING CONSULTANTS INC.




